APPLICABLE CODES, REGULATIONS & STANDARDS

1. 2023 FLORIDA BUILDING CODE, BUILDING (8TH EDITION)

2.2023 FLORIDA BUILDING CODE, RESIDENTIAL (8TH EDITION)

3. ASCE 7-22: MINIMUM DESIGN LOADS ON BUILDINGS AND OTHER STRUCTURES
4. ACI 318-19: BUILDING CODE REQUIREMENTS FOR STRUCTURAL CONCRETE

6. 2020 ALUMINUM DESIGN MANUAL

WIND LOADS (SEC 1609)

1. RISK CATEGORY =1l

2. BASIC WIND SPEED = 160 MPH
3. EXPOSURE CATEGORY =D

LIVE LOADS FOR NON-RESIDENTIAL STRUCTURES (SEC 1607.8)
1. GUARDRAILS AND HANDRAILS

A. LINEAR LOAD OF 50 PLF

B. CONCENTRATED LOAD OF 200 LBF

2. INTERMEDIATE RAILS

CONCENTRATED LOAD OF 50 LBF

LIVE LOADS FOR RESIDENTIAL STRUCTURES (TABLE R301.5)
GUARDS AND HANDRAILS = 200 PSF
GUARD IN-FILL COMPONENTS = 50 PSF

GENERAL NOTES AND SPECIFICATIONS

1. THE STRUCTURES INDICATED HEREIN ARE DESIGNED TO BE INSTALLED WITHIN MASONRY
OR WOOD FRAME HOST STRUCTURES OF ADEQUATE STRUCTURAL CAPACITY. THE
CONTRACTOR SHALL VERIFY THAT THE HOST STRUCTURE IS IN GOOD CONDITION AND OF
SUFFICIENT STRENGTH TO SUPPORT THE PROPOSED ADDITION.

2. ALUMINUM EXTRUSIONS SHALL MEET THE STRENGTH REQUIREMENTS OF ASTM B221
AFTER POWDER COATING.

3. ALL ALUMINUM EXTRUSIONS ARE TO BE A MINIMUM 6005-T5.

4. SITE SPECIFIC ENGINEERING REQUIRED FOR ALL INSTALLATIONS ABOVE AN ELEVATION OF
60 FT FROM GRADE.

5. THE SCHEMATIC SHOWN ON PAGE 1 AS WELL AS THE DETAILS ON THE FOLLOWING PAGES
ARE DESIGNED BASED ON THE PROVISIONS OF THE BUILDING CODE.

6. CABLES TO BE ATTACHED TO FRAME MEMBERS USING PUSH-LOCK TOGGLE TENSIONER ON
ONE SIDE AND PUSH-LOCK TOGGLE NON-TENSIONER ON THE OTHER SIDE, WITH A WORKING
LOAD RATING OF 750 LBF. SEE MANUFACTURER'S SPECIFICATIONS FOR DETAILS.

TABLE A - FOR TOTAL WIDTH<=16'-0"
(TO BE USED FOR INSTALLATIONS WITH NON-EPOXY ANCHORS, SEE PAGE 2A)

|

lll
2

~—2'-8

CHAIR RAIL

CHAIR RAIL

LiPANEL WIDTH‘#

OPTIONAL PICKET PANEL INSERT

1"X1"X0.046" PICKETS
SPACED SUCH THAT A
4" SPHERE MAY NOT PASS

THE APPLICABILITY OF THIS DESIGN FOR ANY
SITE-SPECIFIC PROJECT REQUIRES THE SIGN & SEAL OF A

PROFESSIONAL ENGINEER.

MEMBER LEGEND

NO. MEMBER SECTION LABEL
1 PERIMETER CHANNEL SECTION A
2 FULL-LENGTH POST SECTION B
3 CHAIR RAIL SECTION B
4 INTERMEDIATE POST SECTION B
5 WIRE ROPE 1/8" X 1-19 CABLE (316 S.5.)

NUMBER OF PANELS | MAXIMUM PANEL WIDTH | DISTANCE BETWEEN FULL-LENGTH POSTS
1 5I_6H 5I_6||
2 5|_1” 10|_2”
3 4-8" 140"
4 4-0" 16'-0"

TABLE B - FOR TOTAL WIDTH>=16"-0"
(TO BE USED FOR INSTALLATIONS WITH EPOXY ANCHORS, SEE PAGE 2B)

N

v

2 (IF INTERMEDIATE PANEL)
1 (IF HOST CONNECTION
ON INTERMEDIATE PANEL)

2 (IF INTERMEDIATE PANEL)

1 (IFHO

ST CONNECTION
ON INTERMEDIATE PANEL)\

NUMBER OF PANELS | MAXIMUM PANEL WIDTH | DISTANCE BETWEEN FULL-LENGTH POSTS

3 5I_4ll 16|_Oll

4 5|_3ll 21|_OH

>
<
=
5
] 3
S 5 4 a
S <
X -
> 2
= <C
N
o L
S 3
<
(@)
PANEL WIDTH PANEL WIDTH PANEL WIDTH

TYPICAL PANEL LAYOUT

FLORIDA ENGINEERING LLC 4161
TAMIAMI TRAIL, UNIT 101
PORT CHARLOTTE, FLORIDA 33952

PROJECT NO. 2023126-17

(941) 391-5980
www.FLEng.com

S

CA CERT. #30782

TAYLOR MADE
EXTRUSIONS, INC.

CONTRACTOR:

PROJECT DESCRIPTION:

MASTER PLAN

DESIGN DATE:

05/01/2025

REVISION 1:

DATE

REVISION 2:

DATE

DRAWN BY:

KHV

SCALE:

NTS

PAGE :

1A




TABLE A - FOR TOTAL WIDTH<=12'-0"
(TO BE USED FOR INSTALLATIONS WITH NON-EPOXY ANCHORS, SEE PAGE 2A)

NUMBER OF PANELS

MAXIMUM PANEL WIDTH

DISTANCE BETWEEN FULL-LENGTH POSTS

2 6'-0" 12'-0"
MEMBER LEGEND
NO. MEMBER SECTION SIZE
1 PERIMETER CHANNEL SECTION A
2 FULL-LENGTH POST SECTION B
3 CHAIR RAIL SECTION B
4 INTERMEDIATE POST SECTION B
5 WIRE ROPE 1/8" X 1-19 CABLE (316 S.S.)
6 FLAT BAR 1"X1/4"

CABLE BRACE MOUNTING PLATE
W/ (2) #12 SMS INTO PERIMETER CHANNEL

FLAT BAR\

2.25" X 1.25" X 0.25" THICK

PERIMETER CHANNEL
(FASTENED TO CONCRETE AT 24" 0.C.)

N\

2 (IF INTERMEDIATE PANEL)

1 (IF HOST CONNECTION\

ON INTERMEDIATE PANEL)

2 (IF INTERMEDIATE PANEL)

1 (IF HOST CONNECTION

>
< /ON INTERMEDIATE PANEL)
.
. 3
© 5 / 4 6
f
J ’ / ;
x 2
> O
= <
N h
B
~ [a)]
<C
(@)
!
EQ. | EQ EQ. | EQ.
PANEL WIDTH PANEL WIDTH

FLAT BAR

SCALE : N.T.S

FASTENING DETAILS

CHAIR RAIL

TYPICAL PANEL LAYOUT

CABLE BRACE

/FLAT BAR

PANEL LAYOUT - (2) PANEL SPECIAL CASE

2.25" X 1.25" X 0.25" THICK

MOUNTING PLATE

W/ (2) #12 SMS INTO CHAIR RAIL

(941) 391-5980
www.FLEng.com

FLORIDA ENGINEERING LLC 4161
TAMIAMI TRAIL, UNIT 101
PORT CHARLOTTE, FLORIDA 33952

\-

s

PROJECT NO. 2023126-17

S

CA CERT. #30782

o
pd
W pd
aw z
<z 5 5
=0 £ Q
xrw X [
¥ OD g uw
O _ m w -
5 >F e 9
Q [ <
I < X 3)
E F~uw a =
Z @]
o x
(&] o
DESIGN DATE: 05/01/2025
REVISION 1: DATE

REVISION 2: DATE

DRAWN BY: KHV

SCALE: NTS

PAGE :

1B




%POST

REAR VIEW

SECTION D (SEE PAGE 4)

3" LONG, SPACED AT 18" O0.C. MAX.

FOR ANCHOR SIZE & EMBE

SECTION A
SEE INSTALLATION NOTES (SEE PAGE 4)
D
(2) #10 SMS
NN
H H § \ E 1/8" GAP

AT

SCREEN DRAINAGE DETAIL

SCALE:N.T.S

OPTION 1

I o2 5ms
/ 2"X0.8"X0.125" ANGLE
EACH SIDE OF POST

3/8"X2-1/2" TAPCON

2"X0.8"X0.125" ANGLE
EACH SIDE OF POST

(2)#12 SMS——

3/8"X2-1/2" TAPCO

///////////

FRONT VIEW

BEFORE INSTALLATION OF PERIMETER CHANNEL

POST

REAR VIEW

INSTALLATION NOTES:

1. FASTEN PERIMETER CHANNEL TO MASONRY W/ 1/4" X 2-1/4" QUICKSET
24" O/C AND WITHIN 6" OF INTERSECTING MEMBERS AND JOINTS.

2. FASTEN PERIMETER CHANNEL TO WOOD W/ 1/4"X 2-1/2" GALV. LAG BOLTS
24" O/C AND WITHIN 6" OF INTERSECTING MEMBERS AND JOINTS.

PERIMETER CHANNEL
(FASTENED TO CONCRETE AT 24" O.C.

STARTING AT 2 1

5 ON EITHER SIDE OF

" | posT)

AFTER INSTALLATION OF PERIMETER CHANNEL

POST BASE CONNECTION DETAIL
(NON-EPOXY ANCHORS)

SCALE : N.T.S

/ POST

/ POST

FRONT VIEW

PERIMETER CHANNEL
(FASTENED TO CONCRETE AT 24" O.C.

/f,,;/////STARHNGATZ% ON EITHER SIDE OF
.~ POST)

SECTION D (SEE PAGE 4)
3" LONG, SPACED AT 18" O.C. MAX.

SECTION A
SEE INSTALLATION NOTES (SEE PAGE 4)
FOR ANCHOR SIZE & EMBED
(2) #12 SMs
EACH SIDE
i \ i 1/8" GAP

SCREEN DRAINAGE DETAIL
OPTION 2
SCALE:N.T.S

= o g
O o)) §
*_® e
- M 14
o« o
:Il A=) <
= = ©
©9Z08 5
e e !
T iy
w<<Wow
zXCof
92952
E =yo 2
L3
<>
z <O =
l_ 1
O I
— O ™
o N
o
% .
O
%7’ Z
l_
: 0
N i
% \ )
O
\\\\ &
\\ o
O
b
W pd
Qv -
<z 5 5
=0 E&
xn z
¥ OD SE
SSE £ 9
'_
: s 8 S
P O
() x
o o
DESIGN DATE: 05/01/2025
REVISION 1: DATE
REVISION 2: DATE PAGE :
DRAWN BY:

SCALE:

KHV 2 Q
NTS




% o FOsT

2"X0.8"X0.125"
ALUMINUM ANGLE (2) #12 SMS
EACH SIDE OF POST
(2)#12 SMS
y . (2)#12 SMS
s T 3/8" THREADED RODS (ASTM A193 B7)
L 2"X0.8"X0.125" ALUMINUM ANGLE . - WITH ITW REDHEAD A7+ ADHESIVE
EACH SIDE OF POST S (OR. EQ)
S 3.75" EMBED INTO 3000 PSI CONCRETE
3/8" THREADED RODS (ASTM A193 B7)
WITH ITW REDHEAD A7+ ADHESIVE
(OR. EQ)
3.75" EMBED INTO 3000 PSI CONCRETE
REAR VIEW
FRONT VIEW

BEFORE INSTALLATION OF PERIMETER CHANNEL

POST

% o POsT

(2) #12 SMS

PERIMETER CHANNEL
(FASTENED TO CONCRETE AT 24" O.C.

"

STARTING AT 2 % ON EITHER SIDE OF

PERIMETER CHANNEL

(FASTENED TO CONCRETE AT 24" O.C.
POST) STARTING ATZ% ON EITHER SIDE OF

POST)

S0 HIT-Z ANCHOR

REAR VIEW

FRONT VIEW

AFTER INSTALLATION OF PERIMETER CHANNEL

INSTALLATION NOTES:
1. FASTEN PERIMETER CHANNEL TO ALUM EAVE RAIL W/ #12 X
1-1/2" SM 24" 0O/C AND WITHIN 6" OF INTERSECTING

MEMBERS AND JOINTS.
2. FASTEN PERIMETER CHANNEL TO MASONRY W/ 1/4" X
2-1/4" QUICKSET 24" O/C AND WITHIN 6" OF INTERSECTING
MEMBERS AND JOINTS.

SECTION D (SEE PAGE 4)
3" LONG, SPACED AT 18" O0.C. MAX.

SECTION A 3. FASTEN PERIMETER CHANNEL TO WOOD W/ 1/4"X 2-1/2"
SEE INSTALLATION NOTES (SEE PAGE 4) GALV. LAG BOLTS 24" 0/C AND WITHIN 6" OF INTERSECTING
FOR ANCHOR SIZE & EMBED MEMBERS AND JOINTS.
(2) #10 SMS POST BASE CONNECTION DETAIL OPTION 1
(EPOXY ANCHORS)
SCALE : N.T.S

§ RN 1/8" GAP

SCREEN DRAINAGE DETAIL
OPTION 1
SCALE:N.T.S

2"X2"X0.125"
ALUMINUM ANGLE

2"X2"X0.125"
ALUMINUM ANGLE

(2)#12 SMS

S o
5/&(2);111251\& it

2"X0.8"X0.125" ALUMINUM ANGLE
EACH SIDE OF POST

3/8" THREADED RODS (ASTM A193 B7)
WITH ITW REDHEAD A7+ ADHESIVE
(OR. EQ)

3.75" EMBED INTO 3000 PSI CONCRETE

REAR VIEW

2"X0.8"X0.125"
ALUMINUM ANGLE
EACH SIDE OF POST

2"X2"X0.125"
ALUMINUM ANGLE

3/8" THREADED RODS (ASTM A193 B7)
WITH ITW REDHEAD A7+ ADHESIVE
(OR. EQ)

3.75" EMBED INTO 3000 PSI CONCRETE

FRONT VIEW

BEFORE INSTALLATION OF PERIMETER CHANNEL

POST

PERIMETER CHANNEL
(FASTENED TO CONCRETE AT 24" O.C.

STARTING AT 2% ON EITHER SIDE OF
POST)

REAR VIEW

% o POsT

PERIMETER CHANNEL
(FASTENED TO CONCRETE AT 24" 0.C.

"

STARTING AT 2 % ON EITHER SIDE OF
POST)

2"X2"X0.125"

ALUMINUM ANGLE

3/8" THREADED RODS (ASTM A193 B7)
WITH ITW REDHEAD A7+ ADHESIVE
(OR. EQ)

3.75" EMBED INTO 3000 PSI CONCRETE

FRONT VIEW

AFTER INSTALLATION OF PERIMETER CHANNEL

INSTALLATION NOTES:
1. FASTEN PERIMETER CHANNEL TO MASONRY W/ 1/4" X
2-1/4" QUICKSET 24" O/C AND WITHIN 6" OF INTERSECTING
MEMBERS AND JOINTS.
2. FASTEN PERIMETER CHANNEL TO WOOD W/ 1/4"X 2-1/2"
GALV. LAG BOLTS 24" O/C AND WITHIN 6" OF INTERSECTING
MEMBERS AND JOINTS.

POST BASE CONNECTION DETAIL OPTION 2
(EPOXY ANCHORS)
SCALE : N.T.S

SECTION D (SEE PAGE 4)
3" LONG, SPACED AT 18" 0.C. MAX.
SECTION A

SEE INSTALLATION NOTES (SEE PAGE 4)

FOR ANCHOR SIZE & EMBED

(2) #12 SMS
EACH SIDE

i 1/8" GAP

SCREEN DRAINAGE DETAIL
OPTION 2
SCALE:N.T.S

o &
-
o 8 3
<t ™ E
Oo W
=3 2
_||_— (&)
0z535
e e !
FSiie
MEEEE
ZX 0
o-oTs
ZsdY =
LIJEm@ S
L3
<>
=<0 ~
o T
O I
. O =
o N
o
% .
)
W Z
|_
: 0
N L
\\§ :
n'd
\\ o
)
b
W pd
Qv 5
<z 5 5
=0 Y
X w X [
¥ OD g uw
o J w B
o Zk _—
N L=
P O
() x
o o
DESIGN DATE: 05/01/2025
REVISION 1: DATE
REVISION 2: DATE PAGE :
DRAWN BY: KHV
SCALE: NTS ZB




CHAIR RAIL < CHAIR RAIL

| (2)#10X2" SMSINTO ~~—posT
™ SCREW BOSSES OF

POST

OPTION 1 OPTION 2

CHAIR RAILTO POST
FASTENING DETAILS
SCALE:N.T.S

PUSH-LOCK
TOGGLE ™

WIRE ROPE |
1/8" X 1-19 CABLE ANCHORED
TO PUSH-LOCK AT 3" O.C.

POST\ %

h t\PERIMETER CHANNE

~

/

/
/
’<73|| -t 3||4>;[

/

2"X2"X0.125" ANGLE
ON EACH SIDE OF POST

W/ (2) #10 SMS EACH LEG.

L

A MINIMUM HOLE DIAMETER= 5/16"
MAXIMUM HOLE DIAMETER= 11/32"
INSTALLED 1/2" FROM INSIDE EDGE

™m
~.
N
N

THROUGH HOLES DRILLED
THROUGH POST

CABLE CONNECTION DETAIL
SCALE : N.T.S

/PERII\/IETER CHANNEL

PERIMETER
INSTALLATION
//%
(#10x2" INTO ~ | KT
SCREW BOSSES S CHAIR RAIL
OF POST¥ K
- - //%
by N\ \J/
PERIMETER
INSTALLATION
REAR VIEW OPTION 1
/PERII\/IETER CHANNEL
PERIMETER
INSTALLATION
//*
CHAIR RAIL
//‘5
PERIMETER/
INSTALLATION
REAR VIEW OPTION 2

INSTALLATION NOTES:

1

CHAIR RAIL
\
g
>
FRONT VIEW
CHAIR RAIL

FRONT VIEW

. FASTEN PERIMETER CHANNEL TO ALUM EAVE RAIL W/ #12 X 1-1/2" SMS
24" O/C AND WITHIN 6" OF INTERSECTING MEMBERS AND JOINTS.

. FASTEN PERIMETER CHANNEL TO MASONRY W/ 1/4" X 2-1/4" QUICKSET
24" O/C AND WITHIN 6" OF INTERSECTING MEMBERS AND JOINTS.

. FASTEN PERIMETER CHANNEL TO WOOD W/ 1/4"X 2-1/2" GALV. LAG BOLTS
24" O/C AND WITHIN 6" OF INTERSECTING MEMBERS AND JOINTS.

CHAIR RAIL & PERIMETER
FASTENING DETAILS
SCALE: N.T.S

\PERII\/IETER CHANNEL

\PERII\/IETER CHANNEL

\¥ 2"X2"X0.125" ANGLE
W/ (2) #10 SMS EACH LEG.

TAMIAMI TRAIL, UNIT 101

\\\
\W
PROJECT NO. 2023126-17

FLORIDA ENGINEERING LLC 4161

PORT CHARLOTTE, FLORIDA 33952
(941) 391-5980
www.FLEng.com

CA CERT. #30782

S

TAYLOR MADE
EXTRUSIONS, INC.

CONTRACTOR:

MASTER PLAN

PROJECT DESCRIPTION:

DESIGN DATE:

05/01/2025

REVISION 1:

DATE

REVISION 2:

DATE PAGE :

DRAWN BY:

SCALE:

“ 3A
NTS




1"X0.875"X0.125" ANGLE
(SSV) 1.625" LONG W/
(2) #10 SMS INTO POST

1"X0.875"X0.125" ANGLE
(SSV) 1.625" LONG W/
(2) #10 SMS INTO POST
AND (2) #12 SMS INTO
BOTTOM RAIL

PERIMETER CHANNEL

CHAIR RAIL
+
EV PICKET CHANNEL

PICKETS

TOP AND BOTTOM RAIL TO POST

FASTENING DETAIL
FOR

OPTIONAL PICKET PANEL INSERT

SCALE: N.T.S.

= o g
© o)) §
5
O < o
:,"_D <
= = ©
©9Z08 5
Z536 O
T i
w<<Wow
yErad
o—ocT
ZsdY =
LUEQ:O‘: S
L3
E‘EI
z <O =
l_ 1
O I
— O ™
G S
% .
O
//// Z
l_
: 0
N i
% \ )
O
\\\\\ &
\\ o
O
b
W pd
Qv 5
<z 5 5
=0 & &
xn z
¥ OD 3 |.||_J
SSE £ 9
'_
: s 8 S
P O
() x
o o
DESIGN DATE: 05/01/2025
REVISION 1: DATE
REVISION 2: DATE PAGE :
DRAWN BY: KHV

SCALE:

NTS

3B




3.001 -

SECTION A
EV-TRACK CHANNEL

3.001

0.641
’
L) L)) 2.136
0.855
0.641
'
SECTION B
EV-CHAIR RAIL
2,650 +.024
1.000 +.012
SECTION D

EV-DRAINAGE RC

125 —| |=—

125
r

1875 — - 2— S

4

EV-4 HOLE CLIP

125 —'

a2
,_ba__!
||~

EV-3 HOLE CLIP

EV-Z BRACKET

CA CERT. #30782

-
© &
+_&
(@)
05 g
SEEOE
Z o
z592 8
¥ Lo
W=, - <
W << oW
SEEs
oFo<cs
zS23 ¢
EEI
7O <
l_ 1
O <
r— O ™
o S
2 )
) Bl <
7 z
S == 0
§ ] S
O
\\\\ N
‘L. o
O
LUZ
. pd
L )
<2 5 3
=0 K &
x n &
¥ OD 3 |.||_J
SSE 5@
'_
g g =
P O
() x
o o
DESIGN DATE: 05/01/2025
REVISION 1: DATE
REVISION 2: DATE PAGE :

DRAWN BY:

KHV

SCALE:

NTS

4A




¢8.0¢# "1d30 VO

¢G6€E VAIYOTd ‘FLLOTHVHO 1¥0d

woo'Bugz 14 MMM
0865-16¢ (L16)

21-9¢1€20Z¢ "ON LO3rodd

LOL LINN “TIVHL INVINVY.L
LOLY D11 ONIJ33ANIONST vAIHO1d

///

\\\\\\-

PAGE :

4B

NV1d 431SVIN

‘NOILdI¥OS3Aa 103rodd

05/01/2025
DATE

DATE

"ONI 'SNOISNYLX3
JAVIN JOTAVL

*HOLOVHLINOD

DESIGN DATE:
REVISION 1:
REVISION 2:

KHV
NTS

DRAWN BY:
SCALE:

2.620

EV - PICKET CHANNEL

“L\

!
0279
l

2.520

SECTION C
EV - PICKET SNAP PLATE

4
25

EV - 4 HOLE PICKET CLIP

125



kash
Line


	Blank Page
	Blank Page
	Blank Page
	Blank Page



